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PORRICE SICREITARY:
That is right, that is & fair summry, yes.

QUEST10%:
. I would 1iks to go back to the question of arithmetics
becauee you keep saying that 2 plus 4 mkes 6.

PORBICY EBCRETARY:

1 eaid it omoe.

QUEST1IOX:

1 would kave thought that it could make S, in other terss
the fact tlat you keep saying 2 plus 4 makes 6, dooc it mmsan that
you will keep conceptually talking of 2 differemt territories, tbe
fcrmer Zast Cermany oo which part there would e »o NATO troops,
and the former Vestern Germany where there would be 3o ¥areaw Pact

troops. Conceptually éo you see two Germanys it one imstead of 1,

i?

FORRIGCE EBCEETAXY:

I éo act kaow that 1 caz really add to what I ave maid
about that, I have {llustrated shat cur own fdess are about tdat.
Ve are at the moment talkisg about two Germanys. Eave = lock, if
nmc)watntﬂcruadun.“n I eny we dave wot

quite yet, dave a look st the formulation of wist is put out and 1

think it mmy belip you aasver tiat question.
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